


28cm Im20cm

28cm

1m20cm



120 28

>

28

120
28

120
28




120
28

120
28




1979
924



3.0866142




nin [ -NyeAiey







.......

1.0000000

.......

O 14

goolac

472438

eee
R ..

78734

4

303670° | /

.......

34




3.0866142

392
127
3.0866142 1
3.0866142
30806142 =3.0866142
3.0866142 1 3
3
866142 3.0866142 1.0000000x=< 0.0866142
3 1
3
1- 3<3.0866142
1 866142 1.0000000
11 11
472437 1.0000000 0.0866142 =11
00472437
11 1
<11 1 11
1<11 34 11
3—4 =3.0909 > 3.0866142
11
1 866142 473438

473438 1



393704 0.0866142 0.0473438>x<1 0.0393704

1 1
37 34x%<1 3 12 11x<1 1
37
—=3.0833 <3.0866142
12
472438 393704

393704 1

78734 00473438 0.0393704><1 0.0078734

1 1
71 37x<1 34 23 12x=<1 11
71
— =3.08695 > 3.0866142
23
3 392704 78734
78734 5 S5

34 0.0393704 0.0078734>=<5 0O 000034
5 5
392 71x5 37 127 235 12

% _3.0866141 < 3.0866142

3.0866142 8

10



11

11




IRSans ¢ e | i

=NEU7BS iy §

I-

12







1 No.1

28cm

1m20cm

14



120

28

28

>

No.2

120
28

15




